<(+0_c\( M\ Flov)=c
,3— \
X(//[?XQ +Y- ij L [8_(Xl+g¢j°)>> ‘j’ - D
-
Y- — "
25-0 ) 75'(%" H4dx) T =2 /\J\b;\(}«;;c;(
S A ¢
%EQ:O D?((-XD—GB = —Ax /> L 7
c( 1‘ g l“j oS Co"‘S‘Hh ‘95
£35=0 (
j‘—?'glpﬂ"%ﬁg‘sx 45 )xj Ax_ X +'1x_’&3(/ >> +§¢[)
= %67 )_»[M) xﬁ%( 5)(2 N 43(‘9) ch
¥ e
%gxz A 9
7, ) Dvé‘ ey 7;%2)

= 0 46 —x Mﬁ(v)

Sk F
; ,{,

iZj 0(5) = 871%" by>
gW iz S%ﬁ ~ by,

A 3

7

(

A7\ O



Find the general solution for the following differential equation:
16zy? + kay + (82% - 2y — 5z3) y' = 0

For what value of k is this differential equation exact?

Using the value of k that you found above, solve the resulting differential equi
General Solution: =c
If you don't get this in 5 tries, you can get a hint.
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